ML Meguro Language Center

JLPT N4 Kanji Quiz — 29/34 Answer
1 (KEIF 240 SzxFLi,
(1) {KE 1 72\WwH 2 72nbhrH 3 MHELWwD 4 PHTERHWD
2) %5 1 =5A 2 7-<&ENh 3 LxoLxd 4 72119
B2 ERERIC &0 Hvw BFc2 £bvELr,
(1) mBREAR 1 Z9E9MoZ9 2 ZHZHLF W 3 ZTHZTHUMA 4 THNKUTE W
(2) HHD 1 &£9F59 2 Xxrtk 3 XxoHk 4 LHxrHE
3) Hw 1 550 2 Bbn 3 =N 4 3TN
(4) BF 1 B 2 BLA 3 BEb 4 BTH
13 5290 Wbl ZVCr)STTR, LA & L FnrLned,
(1) Wb 1 &E8 2 2GEh 3 AiE 4 =GB
(2) L& 1 FE& 2 FERH 3 WEA 4 55 F
(3) M=z 1 HFx 2 EX 3 OHFE 4 FEx
fil4 o &6lF ZHCxHfoI uvnELi,
(1) &b 1 2 kb 3 +Hh 4 +h
(2) ZHoLxo&o 1 LATH 2 L 3 +%5H 4 +FTH
(3) MHWEL= I BWEL- 2 B\WwEL- 3 AWELE 4 BELZ
15 E<Lxe &EHE DI T&TT,
(1) &<Llx 1 55 2 wrE 3 EHE 4 HiH
(2) &&9 1 /38 2 fEidE 3 i@ 4 ZE
(3) hxrzo 1 /AT 2 JRER 3 RL 4 figx L.



